
Answer Key

Tear here if you don’t want the answer key!

Biotic and Abiotic, what is the difference?

Answers may vary. Biotic: trees, grass, plants, birds, deer, duck.  Abiotic: air, water, 
rocks, soil, clouds, wind.

Algorithm: Photosynthesis process; Conditional: Nutrients in the soil, Deepness of 
the roots, Amount of oxygen released; Loop: Photosynthesis, Watering the plant; 
Data: Amount of water needed, Carbon dioxide, Type of plant, Location; Bug: Over-
watering, Flood, Dryness, Insects.

How to code a plant

Ecosystem Challenge

Western Black African Rhino: GƲťČØĚƞƪĚƖť�ŚîČŖ�ĴƖŃČîť¤ĽŃťŰ͆�
¹ƖŰƓĽǑOƲťƪŃťĵ�ťē¡ŰîČĽŃťĵ͐�
California Grizzley Bear: GƲťČ îŚŃĴŰƖťŃîHƖŃǛǛŚĚǑ�ĚîƖ͆�~ǊĚƖĽƲťƪŃťĵ͐� 
Thylacine: GƲťČ¹ĽǑŚîČŃťĚ͆�
¡ŰîČĽŃťĵ�ťē~ǊĚƖĽƲťƪŃťĵ�ťēTťƪƖŰēƲČƪŃŰť~Ĵ�sĚǋ¬ƓĚČŃĚƞ͋�

Extinction and Coding
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Program the Organism
¡Śîťƪ�ČŰēĚͅ�
̀͋�¤ĚƓĚîƪ�ĴŰƖĚǊĚƖ�
́͋�ØĽĚť�T�ĴĚĚŚ�ƪĽĚƖĚ�Ńƞ�ČîƖċŰť�ēŃŰǐŃēĚ�Ńť�ƪĽĚ�îŃƖ�
̂͋�~ƓĚť�ŚĚîĴ�ƓŰƖĚƞ�
̃͋�ØĽĚť�T�ĴĚĚŚ�ƪĽĚƖĚ�Ńƞ�ǋîƪĚƖ�Ńť�ƪĽĚ�ƞŰŃŚ
̄͋��ċƞŰƖċ�ǋîƪĚƖ�ǋŃƪĽ�ƖŰŰƪƞ�
̅͋�TĴ�T�ƖĚČĚŃǊĚ�ƞƲťŚŃĵĽƪ�ĴŰƖ�ĚťĚƖĵǑ͆�ƪĽĚť�ČŰťǊĚƖƪ�ČîƖċŰť�ēŃŰǐŃēĚ�ŃťƪŰ�
ĵŚƲČŰƞĚ
̆͋�TĴ�ČĽŚŰƖŰƓĽǑŚŚ�Ńƞ�ƓƖĚƞĚťƪ͆�ČŰťǊĚƖƪ�ČîƖċŰť�ēŃŰǐŃēĚ�ŃťƪŰ�ŰǐǑĵĚť
̇͋�¤ĚŚĚîƞĚ�ŰǐǑĵĚť

�ťŃţîŚ�îťē�ĽƲţîť�ČŰēĚͅ
̀͋�¤ĚƓĚîƪ�ĴŰƖĚǊĚƖ
́͋�ØĽĚť�T�ƖĚČĚŃǊĚ�ŰǐǑĵĚť
̂͋��ƖĚîƪĽĚ�Ńť
̃͋�TĴ�ƪĽĚƖĚ�Ńƞ�ƞƲĵîƖ�ƓƖĚƞĚťƪ�Ńť�ţǑ�ċŰēǑ͆�ƪĽĚť�ċƖĚîŖ�Ńƪ�ēŰǋť�ŃťƪŰ�ǋîƪĚƖ�
îťē�ČîƖċŰť�ēŃŰǐŃēĚ͋�/ŚƞĚ͆�Ěîƪ�ĴŰŰē͋
̄͋�ÀƞĚ�ƪĽĚ�ĚťĚƖĵǑ
̅͋��ƖĚîƪĽĚ�ŰƲƪ�ƪŰ�ƖĚŚĚîƞĚ�ČîƖċŰť�ēŃŰǐŃēĚ͋


